R3.8. 1 BUE SramEEAnR S sl R

JNE] i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
k] 47, 810] 109, 996] 53, 604] 56, 392 37 37 -36 51 87 -1 378] 379 0 124 124
HI—TH 710( 1,513 745 768 -3 -6 -2 1 3 -3 2 5 -1 0 1
FL T H 5551 1,300 655 645 -1 -5 0 1 1 -2 2 4 -3 0 3
LI =TH 444 1,025 500 525 -2 -5 -1 0 1 -3 2 5 -1 0 1
Sl AEH 1,709 3,838|  1,900] 1,938 —6 -16 -3 2 5 -8 6 14 -5 0 5
Sk —TH 477 965 452 513 -1 3 2 2 0 2 3 -1 0 1
. = 731 1,748 852 896 -3 —4 0 4 -3 3 4 4 0
SR —TH 542 1,305 622 683 2 0 -2 0 2 1 8 1 1 0
S AT H 397 900 439 461 -3 -2 0 2 0 0 -1 0 1
ot T H 607l 1,330 643 687 —4 —4 1 3 2 —4 6 10 -1 0 1
BN T B 218 477 231 246 -2 —4 -1 0 1 0 2 2 -3 0 3
ARt TH 641 1,697 819 878 -2 -9 -1 0 1 -8 3 11 0 0 0
oA\ T H 396 886 420 466 -2 4 -1 0 1 3 4 1 2 4 2
IV B 605[ 1,426 713 713 0 -1 -2 0 2 1 7 6 0 0 0
B naatl 4,614 10,734 5,191 5,543 -8  -17l  -10 5 15 -8 36 44 1 9 8
e n—1H 340 811 403 408 3 10 0 0 0 5 8 3 5 5 0
e T H 974/ 2,069| 1,027| 1,042 -71  -16 —4 0 4 -11 1 12 -1 0 1
HHk o —TH 682 1,455 716 739 0 6 0 1 1 6 11 5 0 0 0
W A AEEL 1,996 4,335 2, 146] 2,189 —4 0 —4 1 5 0 20 20 4 5 1
ST a1 H 529l 1,220 599 621 -2 -2 -1 0 1 -1 4 5 0 0 0
ek R _TH 354 920 478 442 3 1 0 0 0 0 2 2 0
Mk R =TH 249 523 269 254 12 0 0 0 11 12 1 1 1 0
ik L G| 532 1,274 642 632 -2 -1 -1 1 2 0 1 1 0 0 0
msEr aaEt] 1,664 3,937] 1,988 1,949 7 12 -1 2 3 10 17 7 3 3 0
TEIT) 367 866 409 457 1 -1 -2 0 2 0 3 3 1 2 1
HOEEN— T H 201 422 206 216 -1 1 2 2 0 0 1 1 -1 0 1
HOEE T H 427 975 471 504 2 3 1 0 1 6 5 1 1 0
HoEEI =T H 683 1,732 848 884 0 -2 -1 0 1 -1 1 2 0 0 0
HOEEAN T H 793 1,977 972| 1,005 3 3 0 1 1 -1 5 6 4 5 1
HEROH T H 431 1,030 526 504 1 0 1 0 0 1 1 -1 0 1
HOEEIS T H 396 911 449 462 1 -1 -1 0 1 0 1 1 0 0 0
HoEEOETH 667 1,451 709 742 -3 —4 -2 0 2 -1 4 5 -1 1 2
HOEESOSE 3,598 8,498 4,181| 4,317 3 0 0 5 5 -2 19 21 2 7 5
PEEE 1,516 2,863 1,357 1,506 0 -1 0 1 4 11 7 -3 0 3
FHIAR 316 668 346 322 -3 -11 -2 0 2 -9 0 9 0 0 0
R e — T F 5371 1,092 514 578 —4 -9 -1 0 1 -1 2 3 -7 1 8
EE g — T 258 527 263 264 4 12 1 1 0 4 4 0 12 12 0
R =T H 524f 1,170 581 589 -5 0 0 0 -3 3 6 -2 2 4
TEE Py T 616 1,287 618 669 -2 -6 0 1 1 —4 4 8 -2 0 2
EEP g R T H 239 553 274 279 1 3 0 0 0 1 1 0 2 2 0
EER A 2 174 4,629]  2,250| 2,379 0 -5 0 2 2 -3 14 17 3 17 14
EEIARRT— T H 677 1,413 675 738 5 10 1 1 0 3 10 7 6 7 1
EEIARRT T H 661 1,307 619 688 -1 -12 0 0 0 -7 8 15 -5 1 6
EEOARRTAE 1,338 2,720 1,294 1,426 -2 1 1 0 —4 18 22 1 8 7
RPN 282 790 430 360 -1 1 1 0 -1 1 -1 0 1
WHR—TH 708/ 1,665 828 837 -1 -2 1 1 0 -1 3 -2 2 4
HOOR T H| 1,703 3,945 1,892] 2,053 6 8 3 4 1 6 22 16 -1 6 7
WHR=TH 845 2,182| 1,060 1,122 1 -3 0 3 4 0 0 0
HHRIT H 493 1,188 564 624 -1 1 2 1 0 1 3 2
HPREEH 3,749 8,980| 4,344| 4,636 5 2 7 5 9 32 23 -2 11 13
HiR—TH 678l 1,559 755 804 -3 -9 0 2 2 -4 -5 2 7
IHR_"TH 930 2,262] 1,127] 1,135 3 -1 0 1 6 1 3 2
PR =TH 494/ 1,065 545 520 2 2 3 1 0 1 1 0
dbrhiR&ar 2,102 4,886] 2,427| 2,459 2 1 5 4 2 14 12 -3 6 9
T IROBTHT 322 816 392 424 2 0 0 0 1 0 1 1 0
el 1,6000 5,141 2,308 2,833 1|  -14 -3 0 3 -6 14 -5 2 7
FRE— T H 737 1,767 864 903 6]  -10 -1 1 2 -8 8 -1 0 1




R3.8. 1 BUE SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 733l 1,801 901 900 3 4 0 0 0 3 5 2 1 1 0
MoE =1 H 649 1,547 770 777 -2 -8 -3 0 3 —4 0 4 -1 0 1
A EN T H 935| 2,245| 1,072| 1,173 -3 -2 1 1 0 -5 3 8 2 4 2
RCENNE 621 1,446 705 741 3 3 0 2 2 3 6 3 0 1 1
MAEST H 4171 1,000 471 529 0 -1 0 1 2 3 1 -1 0 1
M E e 4,092( 9,806] 4,783] 5,023 -4 -13 —4 4 8 -9 17 26 0 6 6
VEPIe S 546 1,122 557 565 1 -3 -2 0 2 -2 3 5 1 1 0
e —TH 306 677 320 357 -2 -1 0 0 0 -2 1 3 1 1 0
e — T H 584 1,343 641 702 1 0 -3 0 3 0 2 2 -2 5 7
A gl 890/ 2,020 961| 1,059 -1 -1 -3 0 3 -2 3 5 -1 6 7
Eh— 1 H 304 686 343 343 —4 -6 0 1 1 -2 1 3 —4 0 4
= =T H 628/ 1,365 653 712 1 -5 -2 0 2 4 4 0 -7 0 7
=T H 381l 1,031 518 513 —4 -6 1 1 0 -5 0 5 -2 0 2
EAEr| 1,313 3,082 1,514| 1,568 -7l -17 -1 2 3 -3 5 g  -13 0 13
e —TH 385 966 452 514 -2 —4 0 0 0 -4 0 4 0 0 0
WHE T H 4421 1,100 553 547 -1 -5 -1 0 1 —4 0 4 0 0 0
HHE T H 767 1,894 972 922 5 8 —4 0 4 9 10 1 3 3 0
W& T B 456| 1,062 518 544 -1 1 -1 0 1 -1 0 1 3 3 0
B E ] H 797l 1,763 871 892 1 5 -2 0 2 5 8 3 2 4 2
HHIENT H 240 511 255 256 3 0 0 0 1 2 2 2 0
HEOEE 3,087 7,296| 3,621 3,675 8 -8 0 8 6 21 15 10 12 2
<HWE—TH 587 1,379 674 705 -5 -14 -1 0 1 -14 3 17 1 2 1
<HEIL—TH 706 1,506 732 774 -1 1 1 1 0 -1 7 8 1 1 0
SHBEIL=TH 524 1,148 566 582 -1 -1 -1 0 1 0 6 0 0 0
<HEWLPTH 569 1,188 603 585 7 5 0 0 0 5 11 0 0 0
<O T H 322 699 374 325 -1 -5 2 2 0 -5 1 -2 0 2
<WEEEH 2,708 5,920 2,949 2,971 -1 -14 1 3 2 -15 28 43 0 3 3
WIE AR —TH 7900 1,707 862 845 10 -1 1 2 12 15 3 -1 3 4
WIEAR T H 469 1,126 580 546 -2 0 0 0 -2 2 4 0 0 0
PIEARTSE 1,250 2,833] 1,442 1,391 8 -1 1 2 10 17 7 -1 3 4
s 404 788 372 416 1 -1 0 0 0 4 7 -5 0 5
ek a—TH| 1,096 1,741 767 974 14 19 2 2 0 13 30 17 4 5 1
e T H 409 714 347 367 —/ 2 2 0 0 6 6 -2 0 2
kR =T H 630| 1,697 799 898 1 -1 0 1 -1 6 2 2 0
sk BRI H 405 844 413 431 4 0 0 0 6 0 -1 1 2
e El 2,540 4,996] 2,326] 2,670 15 24 3 4 1 18 47 29 3 8 5
FRIREET 20 52 26 26 -1 0 -1 0 1 1 1 0 0 0 0
B 749 1,759 852 907 4 4 0 1 1 -1 4 5 5 5 0
VEEE 283 675 310 365 0 2 1 2 1 1 2 1 0 0 0
e — T H 4450 1,129 561 568 —4 -3 -1 1 2 -2 1 3 0 0 0
e T H 390 919 442 477 0 1 1 1 0 -1 4 5 1 1 0
oo B R 835 2,048| 1,003| 1,045 —4 -2 0 2 2 -3 5 8 1 1 0
P — T H 681| 1,399 697 702 0 2 -1 0 1 4 8 4 -1 0 1
P T H 522 1,294 608 686 2 1 1 0 0 1 1 1 1 0
Ve A Er 1,203 2,693 1,305 1,388 4 0 1 1 4 9 5 0 1 1
P e 307 674 337 337 10 6 0 0 0 3 6 3 3 7 4
BEHIR 227 531 283 248 3 2 0 0 0 2 4 2 0 0 0




